
CALIFORNIA INSTITUTE OF TECHNOLOGY       DRWG NO.     REV  GID

MASSACHUSETTS INSTITUTE OF TECHNOLOGY E1101040-v1
SHEET 1 OF 1

ASSEMBLY NO:

OVERALL BILL OF MATERIALS D1101806
TITLE:

aLIGO ITM ELLIPTICAL BAFFLE ASSEMBLY

APPROVALS: DATE: REV DCN NO. BY CHECK DCCDATE

DRAWN / AUTHOR:
CIT, JT 18-Oct-11 v1 E1101007-v1 JT

(REFERENCE CONTENTS)

CHECKED:

APPROVED:

DCC RELEASE

ITEM NO REQ. SPARE TOT. PART NUMBER REVISION DESCRIPTION MATERIAL

1 2 0 2 D1101805 v1 6061-T6 Al

2 1 0 1 D1101804 v1 304 SSTL

3 16 4 20 92196A539 18-8 SSTL

4 60 15 75 MS 15795-852 300 SSTL

5 30 10 40 N-2520-A
Ag-PLATED 300 

SSTL

6 14 5 19 92949A541 18-8 SSTL

7 1 0 1 D1101813 v1 6061-T6 Al

8 1 0 1 D1001186 v1 18-8 SSTL

9 2 1 3 98017A220 300 SSTL

10 2 1 3 90810A036
NICKEL-COPPER 

ALLOY 400

McMASTER, SOCKET HEAD CAP SCREW, 1/4-20 

X .625 LG, SSTL

FLAT WASHER, .266 ID X .63 OD X .032 THK (OR 

EQUIV)

McMATER, BUTTON SOCKET HEAD CAP 

SCREW, 1/4-20 X .875 LG

SCREW #3/4-10 X 4_McMASTER 92240A849

WASHER #3/4, MCMASTER

McMASTER, NICKEL COPPER HEX NUT, 3/4-10

aLIGO ITM ELLIPTICAL BAFFLE TOP-BOTTOM 

aLIGO ITM ELLIPTICAL BAFFLE CENTER SKIN

UC-COMP, HEX NUT, 1/4-20

aLIGO ITM ELLIPTICAL BAFFLE TUBE MOUNT 

CHANNEL

SHEET 1 OF 1 11/7/2011 9:37 AM

https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101806&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=E1101007&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101805&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101804&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101813&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1001186&version=

